2B (AR) 38 () 48 (K) 5H(K) 68 (%)
s Bad —A&Y | |#zs Bndb — A&y | |mas Bmb —A&Y | |#zsa Bmdb —A&Y | |#as Bmdb — A%y
EXRR=E EXRR=E EXRR=E EXS=E EXRS=E
C  (EExEE-s NRERENEEY, 50 = |[BEXEE-A) 70| 1B |EExER 62| [ |[BEXEE-8) 70
& lgax(EH-A) go| |7 [au~isy 50 & [ExE®R-m) 80| |2 [BEXER 68| ¥ [BE%XEH-B) 80
py < A Y kEzE BB 6| |
— AN — — 1) —
o = 206| |, |&E 206 4 [FF 206| |4, |RHE B&K 7 & |ER 206
Y g, P 5.3V S 05| |3
A [BA m-EELEx2m) 12| |4 [®eiex3mz54R) 25 BRI (3 X 3mR5A R) 40( ([ |wsYsHADE 280 3 M SEDHZE % 40
F |me st-muLexem 8| [ |"=ar (Ef) 5| 'R |SEE 1] |~ S |hEEoszrE /M 50
~ | &E 1| [xEkE 2] |1 [Le3w 1| [~ [43 206] |1 [A)sEoszE B 70
g]‘ EHEE(Y(10) 15 T (5) 2B 1kg 10 :Il FrAy 40 f 2
o |EZ 35l |, |Leding 5| o |ER 30f |y | g2 x2om) 12| |z [F¥FL8A 20
» |[AZ 0 g |EE 0f [ |AZ 10| |Z ey sb-mtsL2xaom 8l |& |Zw3Y 20
- (A) &PV AIFA 500g 7| |1 AS 10 F—<y 8 ()3=025F BRTAY 20 +£PL 15
FLLLEHH(RSAR) 1| |~ |35 1 [F |&EE 1| |4 [EDULE 3 |7 (A3 5
S [ 3| |X [@wrerea—t ke 6| | |IzAl 05| [BL  [2o=CAlzxl 25| [ |#yBEcE 1
i |=Em 25 (%) MM FryT ke 3 ;I'\ CFEil 1 . EWSIES 15 Ij B BLERLy LY 8
_ |e& 04 17/ tEE 12| | |[Faz 2 2: AS 10| |3
g HIVET 7LH 2| |., |FEAESHE 1 FAREZ—Y—R 07f |4, |ehEeLalfA 5008 8| |4 [BikEsFEON) 6
v & 5| [+ [2RE—V—ZR 0.7 L& 1 (& [HS5H 1 |&  |ALOA 6
& 4 [FErarys 0.6 B 1] [&2  [L&SKW 4l |b (BT 20
5 [a®L 2| |5 [&E 04 = 01| |&¢ [Z=m 3| |* (= 25
S [EwSY 20| ¥ [2L&S 0.05 SiRE 005| (U |&E 1 é’) i 5
2 xz 7 % 40 c |24 05| |5 [L&30 06
7 |memriovey 7 () S (hoh) ke | |5 & 20| |z [&E 04
P CA)TOvau— EiE ke 25 RULR/NA GEH) B 15 1 [HIVER LA 4
() MAAYT—EUE 8 Fry 20 E# 15| | [FvRY 30| (P |HLE®# 1
3 Zp3Y 15 AS 7 (& b 20| |, 7K 120
’b (B) BEhh5Yh i (28&ETY—) 2 (ﬁ)ﬁ_}l/:_:/ 5 2_0)%1‘:[-’- 7 e %@5") 10 a-
L () I AEELy thha 5| | [wyacE 1A [E)VEDL—Z 30
g Y55 0.5 ; BT HOBELYS LY 10| |y
z (B ABR—T 1kg 4 FY A
3 L&5K 0.5 L
) Bt 04 f’/
FELaLY A 0.3 o+
/I CEil 0.2 !
B ) 0.03 <
7|7 % 120 ;))
E L
> |
i z
;F; N
th
# )
~ H




9l (A) 108 (K 118 (K) 128 (K) 138 (%)
s Bad —AHY | |#zs Bmdb —AHY | |mas Bmdb —A&Y | |#zsa Bmdb —A&Y | |#os Bmdb — A%y
EkRDE ERDE ERDE ERDE ERDE
'].\ = D AIAY 0| [ [BEXEE-H) 00 |F |[EEXER 55| (2 |[HEX(EFE-H) 70 7 |2y 50
B |ay=iy 30| & [mEXEE-H) 0| B [kuE B8 5| |IS [#axER-A) 8ol [V |aw~isy 50
> /" B ok os| |¥ "
~  |HE 206| |, |[EUVLEDY 10 | [BEE(mAEYY) 20| [ |FE 206| [, |4FL 206
N C - |EHooKEGK—L) 10] |y
L R TFLAN—D) 35| |=  |4E 206| |&# |AS 5 |1! BRI F 40| |4 |me m-EEL(2x20m) 24
W TiE 15| |D Z  |Hh¥FE 51 [ [[BE 1 1ZL mm tt-msLexem 16
*  [R—arGEm) 5| |Y  |msiexemzs42) 25| & [A)o=ss ke 5 |72 [whosbyxs 1k 15 R—av (5 i) 5
A [(BbsytEs 15 o [Lening Y N A s o5| |5 [E= 40 L& (B BOAFAT ke 15
R BAESHE 2l | p E& 50 % CFEih 1 ; F=HDTKE GR—IL) 10 I% E& 35
v |EE 0 |z [PESAICRS 15 (A |EHE 4 |lg |25 5 ¢ [Cedrg 25
I [(BbEIbKE ke 250 |- |AB 10| [y |L&IW 35[ |z |zurx@xaxo. sm) 5 (85 |(EFIPKE 1ke 25
L |(zyrx 7 () EBLAIFA 500g 5| |~ |LtB% 08| |+ |IZAlX 05| | |HT 20
A |Ry¥—= 1| |+ |pS5 1 Bif 04| & |z 03| @ |AB 10
N Az 71 |13 (LS 35| |F Ao cEm 07| |F [izal< 1
'__f [2Al=< 03f | |EBEE 25| [? [#=m 206 f) L&SK 2.1 Z HS54iH 1
s 2| [ |BE 1 |z FARE—Y—R 14] s |[GOrRRrTeyT ke 3
(8) FerrFryT ke 5[ v |i& 5 [ |mAi(3x3mz54%) 20| (4 |ZEE 1 FARESH 1
A4 | BRESHE 2| A% (N b |5 |[FEUaVYA 05| [ |EB# 0.8
2 [HRE—Y—X 1 FrRy 30| = |E#H 20 SRE o1 |[L [9RE—Y—X 0.7
A = 1|7 |7ZR85HZ 15| [ [FeRy 2| I [wyscE 1 [E  [FEravyux 0.6
Z ai5 04| |2 A2 7|, el 20 § ThsA 05 f; &l 03
" ZL&S 0.05 5 (fF)F—ILa—> L FoTUHA 15] | & |5 L& 0.03
5 |[FEavvA 03| [/ [MEECEFLYL oY 8l || [AZ 5 |z [ EA®DY O. 3¢ 03| | & 20
g =B 0.01] | = v E=2Y 3 |
BF—X 3 D R Icalzl 02| |7 |rorznscemmsz 1| 1 | FeRY 25
3 Y v &= 02 ¥ 20 (L [Z35Y 20
| [Eery 35| |2 7 [o54m 05 AS 1| |~ [xz 7
7 [Ee3y 15 |# M 05 E 5| [ [@E@d—ra— 5
Lo |ESTUD 5 L&SR 1.5 &R (8~10cm) 5 |p  [BDULE 1.3
~  |@E)AR=a—=y 5 FExravyA 0.3 FLLLVEF (RS4R) 1 |z |dEEcsrLysyy 10
IN @@ asToRLYL L 8 Big 0.4 BS54 8 05| |~
2] ZL&S 0.03 (B MBR—F 1kg 4 £ 30
D |@ya—rur samit 70 SiRE 0.03 L&SK 0.5
% FELAUYA 03
= (LR SAUPyTIL ke 20 Bl 0.5
(LR #hA EE-1kg 20 ) 0.03
(LM EB ke 15 CFEid 0.1
Y AITILEY— 20 = 130
MBaE 20




178 &) 188 (K) 19H (K) 208 (£)
R E B4 —A&Y | #zz =4 E —AN&Y | |#zs BRf —A&Y | |#xz BR% —A#HY
ERRNE ERRE nE NE
S |meExEE-a) 70| [F @)+ SAY | [g-ne2 50| S [BE%k(EHE-8) N EEREEEES 50
& lmaxEE-a) 80| |7 [E)F> ®AY Mna-6 70| [ |[gEXEHE-B) go| [V [3y=isT 50
A 1 7 2y = 100 |V ~
#  |%E 206] |, 4 |%E 206| [, |4FL 206
g, I 43 206| (=,
&) BE¥anvy 50g 50| |~ BT —OhyMTEBHE 40| |4 B AHEEAS 30
I Dy it e ¥: 5 |+ |BAEHEsSUF 20| | |%f=4aidh 5| Bl |E&E 35
& B hiEY—2R 8| |~ |[FmzoF 15| (L [ 4 S=&Q 20
Eb\ T | WRUEDYAE ke 20 2 = 0.7 f’ f=1F D TKE R—IL) 15
N e A 40| |4 ¥l 30 u?& L&ESW 24| |~ |AZ 7
o |[AZ 0] |z |AZ 1|y |ZEE 2| | |[HhE 5
v |PTIE 0.5 E—<> 4 | | CFEim 05| |& |&EZ 0.5
va < (L= 1] | & |k 3| |& |HSFH 0.5
(A BESEHN 25| |7 [IzAl=K 06| [ 3 |@®rER—T ke 4
GNET 25 |7 [£= 03| [T [Frxy 25 |7 [Ledw 1.2
§ A o 5 [#558 05| g [ZRASHR 20 g Bl 0.4
= |Lol 1|5 |[hES 1 |z [Ee3Y 7 | |EL&S 0.03
wrd 5| & |@rsrrFevT 1 9 |l [AB 51 {1 FExravyi 0.3
2 |EAEZ 55 JRE—Y—R 35| [K (B)FIERL v 8l |7 & 100
Ao |HBZ 5 (5 |[AL—% 12| |L &
- |&FL £LH 4| [T [HERESHE 1Y |gas@xsmzsaz) 15) | (LR ECHHE 15
L P 110 7’?_ FEIAVY A 05| |7 &L 20| [ [Frry 30
5 B 05 ,; ) 10 f £0L 30
-] (B BREY— SmmR 50| | [SL&S 003| |4 DEZAIZBL 10| |z AS 7
¥ (1) z AL 10 |¢ TYUF(1x3x0. 3em) 7
1 2| xRy 25 i 5/ [ |(E)h—iLa—> 5
| | [ze35Y 5| & (Zaz o | [oS55m 1
" 7 [irz 7 ﬁ EZTL LA 4 |Y [BE 05
h <ho= 5 |’ K 110 7|' L&S5K 0.2
D (B hAEDRLYL LY 8 FExrasy i 0.2
& BiE 0.1
- RULRAL GE) B 7 cL&d 0.03
(LM 53 5801ke 20
£ 20
AS 7
rtd 5
g 0.2
Y54 0.5
(B HBR—T ke 4
L&5K 0.5
FELaLYA 0.3
BiE 0.3
L&D 0.03
CFEH 0.1
= 130




248 (K) 25H (k) 26H (K) 278 (&)
[N Bndb — A&y | |mas Bmb —A&Y | |#zsa Bmdb —A&Y | |#as Bmdb — A%y
EXRR=E EXRR=E EXS=E EXRS=E
B | EBEk(ER) 55| | [BEX(ERE-A) 70| [IF |[EExkER R EE 50
T [kmE Bk 5| [ [maxEE-m) 80| |2 [BEXER 65| | |2/ 50
7 etk 0s| | S [eex of [ [mem 75
5 |Emexzmzs(z) 20f |4 [FF 206) |, |BBX 10 MEE 15
o &= 0.7] |3, 2X 25| |4
~  lizaiz< 0.5 T — 21| |4 |OTERE ke 8| (2L |4 206
e E#& 10| (& B 6 mL (2 x 2om) (BNIRE) 14| (3L bR} 3
A A 51 1Y |i&E 0.7 BiE 07] |F A Etmmas 45
Y [hoEnE 1k s [ [casa al % b [rem 5
CEH o |osu—gmae 20| | 43 206 |1 |ER 10
4 L& 2| |,y |ttt 5 |4 z |AB 5
3 [LB%E 3|1 [ 1 (& |mm s gslexem 12| |5 [FS8FUB 4
il IR ENEES 0.8 B L4 BAL (2% 20m) 8l [N |HSEH 05
9 |[FEravvA o5 [&F [izal< 08| |& |EE 1|Y |(&E 35
Y 05| |Y [dmE 2| |2 [EoAlze< 30| ¥ [tam 3
[E TiRE 0.1 F’; L& 1.8 35 i A F:3p) 25| [+ (&) LEL Rt BE-500g 1.5
% R 15 |z [hacsWbeSem) 15 |1 L&5K 0.7
B [4E 206| (L |=ERE 005 |2 [AZ 15 | |BiE 03
1)) % iz 4] [+ (A) &PV AIFA 500g 8| |7 cL&S 0.02
H [ZwdY 10] | -3 15/ (B [k 10
A |AB 7| |~ |EeSY 30| | [Lesw 4| [¥
j’) () h—La— 1 |2 sy 30 g o g 28] |7 [zma sz e 30
PIFLKIR 5 |2 WYBEITE 1 7 TAXRA 07f | ] W TiE 05
o |EDHHER 0.5 B EEM 15] |4 LT 6
> | EasELYL LY 10| = |[FKLZH 06| |A = |R—av@Em 5
2 = ~ BB 30| | (B AEVAFAT ke 18
Y oL aas cam s 5| |b [E=k=k 30 [N mislF 5/ | X |E& 30
7|< (8) F-ADA 7| |¥ S ET: 20| [P [FexRy 20
5 |z= s (M ;‘i ¥ 5| |7 [Az 10
FoFUHA 10} [ _ |[Flbhhrs k) 05| |5 |EAY 2
3 [FLLLEBRTAR) 05| | haHE 55 Wi 05
v o | YSAH 05| (@ HAE 5 () FIhKE kg 15
9 ) HBR—F ke 4| (& ZFL LA 4 (B)MB5ZX—F 1kg 4
A L&SW il |~ K 120 FAESHE 1
7 |asm 04 BiE 06
o |[FEiarus 03 (B) A #H b A 80 cLeS 0.03
o |SL&S 0.05 FxavyHt 0.5
N % 130 A—)T 0.1
& 2 100
gi (B)SwHyRFvY 15




308 (AH)
s Bad — A%y
EKD=E
® | gakEE-A) 70
D ek (EHE-E) 80
o
5 |[EER 206
L
[ R (3 X 3cnZ 54 R) 20
PAEY 35
1 [Ceping 30
A [&oFLn (2emf) 20
AS 10
;ﬁ Lol 7
I (1x3x0. 3cm) 7
BT EREE ke 5
T |IzAl< 05
EEES 0.2
g +55 2
g INE#H 5
BS54 5
I |AL—#% 1.1
IS |[@®ne2—T 1ke 3
X (B) P FryT kg 2
L [wze—y—=x 17
EAMDY—R 1
L&KW 1
FAESHE 1
FrYH 450g 1
BiE 0.7
ZL&S 0.04
FExaAYH 0.5
% 85
(82)iBEIVIR 1
FrRY 25
Zp5Y 20
AS 7
) BLERLYL LY 8
INEFL 4




